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A. Predict which carbocation is the most stable one.
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B. Predict which carbocation is more stable one.
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C. Predict the product and write a mechanism for the following reaction.
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1. To confirm the biosynthetic scheme of the mevalonate pathway, a researcher supplemented selectively
isotope-labelled acetic acid (CH3'3COOH) into the medium of terpene-producing yeast. After
fermentation, and mevalonic acid and geranyl pyrophosphate were purified from the yeast lysate. Then,
the numbers and positions of 3C in the isolated mevalonic acid and geranyl pyrophosphate were
determined by NMR experiments.

Predict the results of each molecule. Highlight the labelled carbons with circles.
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2. Shown at the end of this class.
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3. Provide your impressions and/or questions regarding the issues introduced in the class if applicable.
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2. Isoborneol can be chemically converted to camphene by sulfuric acid treatment.
Predict the mechanism of this reaction.
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3. Provide your impressions and/or questions regarding the issues introduced in the
class if applicable.
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